THAEE ARTAR—VD>FHAEENE

BES | #A | 215 B mEFEH 5%
1 BIEBREAIRRRESBE<THESTE>
() RXFERRRARE FFEKRE
= AN ~ S A
gfj;i; 74§ _f:g,: — 170)1 PETE = BIR£=80,000M+R3&$3F & x 50/
Q) Y yh—XHEKRE
DU-12 8H E4) RIE
@u-11 7R 4] RIE B A £=80,000+R3Z £ [F & x 50
®3U-10 TR T4 RIE
(3) BIERRKRE
OF ZLIEEF S 10A2H HAERAEELE 9004 X -
OF N 2R1ISE  AERAESE sooz | PE=G0000FI+RIEHERENR x 50
4) YINTF AT RS 118238 LEXEEEE 604 Bh R £=60,000+R3& %[ & % 50
B) EFEXRRKE 7H318 EEFRAEEEM 20044 B Rk £=60,000+R3& %[ & % 50
(6) S=ZNRTYMR—ILERRAE
DOEZFKE 6A18E~268 |ERRXAKAEELE 4804 . -
QMEXRE 11812B~138 |ERIRAEE 4804 BN 260,000+ RIBHE R x 5073
(1) INFEURORRKRE
OMEXRE 108158 BEXAKEELE 1004 . -
QF B, 1A8E  BERGERE 100 | DIPkE=80,000F3*RIZERE R X 50F
8) PHRFHERRKE 2H12H TtXAEEE 1004 B A £=60,000+R3Z& %k F & x 50
(9) XEAR—YRXRKRE
D7 LRy 2R RIE
QrT 2AE@E RE BN £=80,000/+R3& %[ & % 50/
QU <v—SrrT 6 AtE FRIE
(10) NL—FR—IILRRKE 9HtE RIE B Rk £=60,000+R3& % & % 50
(1) WMEIRB/RE 18228 RXAEE 2004 B A £=90,000M
2 2EBBIIRRAEEERKENERETE> BBHESHY
(1) #E3emEALBEAF -V D EFRKFERRRAE 7816A~188 [fBJIITH 1F—LA
(2) FA5EIZE B ARU-129h—EFHERXSIBEXRS 10888 ~98 |ELfT 1F—L
(3) FE3emALBEAF VD EFHRERFTAE 98238 ALMR 2F— L, BREE
4) 1AL EBEAR -V DERNL-K -V RKTRKRE 11A198~208 |FRIITHREHEE BEEIF—L
(5) FA4EALBEAR YD ERAT- IR KRS 1BLEH £ 2% v [ FE AR B EHBHE
(6) FEoEALBERAR—YDEMANRIVINRRRE 78308 FNHREAREE EHEE
(7) ESEILBEAF VD EAEFERRAE 9A811H Fkm EHEAE




. #A =15 IBmEFES &5
SEEMBARRAREFTERENEREE> BRFIEHY
(1) FB4aEI2EAN -V D EFRBABFERIRRRE 8H4B~7H =RER 1F—LA
(2) 4@ E ARU-120 v Hh—BFIEKRE 12A25H~298 |[ERBR 1F—L
(3) FEAsEIEEAN —V D EMEERRRE 3H258~278 #HBEE 1F—L, BEEIE
(4) FB20EIZEAN Y DERNL-F-IRRKE 3H248~278 |H#E@ER BEZEIF—L
(5) FBaaEEEAR -V D FEFVT-RFRKRE 8H12B~148 |HEFRH
A REBEXRAREBEXEIRERNREE>
(1) 52 B EAN -V D ERE 8H5B~7H ENXEFTVERROR 804
(2) oA EEAN -V D ERE 8H4H~7H ERBRIMEVFEFRARDR 34 BEE14. MB24%
@)BHMRKR—YVEHARBRRCRE: 510Kk XRiE v D 74 {5EE 14, HE64
51— —&FEK-BREX
(1) fLIRFRAR—Y D EH) —F - EE 12H48 hEAREEVA— 304
(2) dLBEAN=YDERMY 127 ) -4 -R)-VGER ; FL1R 1A78~9H XRE 304
(3) BARARKN =YD ERMY=T )4 -AI-L(RE) 8H9H~12B |ArSAY 4%
6 IEEEEN-BHEEX
(MRA—PI—FEREE S RIE RE 504
()5EE -BEAMHER 2H18H hEAEE I— 504
7 #BREhEE
MEREHRHEEE 48 ~3A B AL E=20,000M (FE£85))
ERFHESEXE 5A~28 B E-R X & B2 x 70H
8 Tt

(1)Z4FE7 (WEBZ R FH=)

4818 ~7R29H

HIEHRR—Y D E

B =4,000% 1EEH=1,000%

QORTHRAR—Y D EREEREDFME 5A T4 IR AR —Y D EH
QILiEEAR -V D FAREIRHEEHE 7R T Al
(OB AR -V D EFES R EHE 48 T A#HY] mEA7TEA LA, FEEHTRLURN




